Algebra 1

Intro to Quadratic Characteristics

Nome:

Date:

Lock at the graph below. Are there any similarities or characteristics you know based on what
you learned'about linear equations? Are there any characteristics applying fo quadratics that

are new or different?
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Let's fry some more!
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Axis of Symmetry

Left End Behavior

AS X=2-00, y->

Right End Behavior

As x>0,y
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I Left End Behavior

AS X=>-00, Y2

Right End Behavior

As XD, ¥y
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How coutd you find the zeros without looking at the graph? *Think back to last semesterl®

AS X>-00, Y2

As x>0, y>




Algebra 1
Homework — Quadratic Characteristics

Name:

Date:

Fill in the characteristics of the given quadratic equation.
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As X->-~co, Y-

Right End Behavior
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As X200, Y2

Right End Behavior

As X2oo, Y2




Ronge:

5. Domain: i redt numbers
vertex: {1.2)

increasing: —w<x<]
Decreasing: 1<x<w

There is no sfretch or shrink o= 1)
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Comain: - 7
Veriex; Extremna: ‘
X-ir‘ﬁemep’r(s): Y infercept: | f
Increcsing: Decreqsing: R ;
Axis of Symmeiry: &
Domain: Range: :
Vertex: Exfremé: : ”
Xintercept|(s): Y Intercept: A
ncreasing: Decreasing: E‘
Axis of Symmeiry: ¥
Domain: Range: T : ;,
Vertex: __ " Extremar; M ;
X intercept(s): Y Intercept; ! ,:’
Increqsing: | Decresing: ; i
Axis of Symmeiry: k,

Use the information to skeich a guadrafic. :

4, Domain: all recl numibers 4

Range: y =1 N

Increcsing: —2<X<w
Decreasing: ~w<x <=2 %
There is no streich or shrink (o = 1




